65 122,5

10°
178,6
186,5

| stamp T , I
1 ! J
1
§ w0l 71
= 23,5 o = -
33,5
a i i o
V NV Isometric
A ¥ 1:5
=
|
|
e
|
K2 Sysfems GmbH Designation:

Industriestr. 18 DOTO SheeT

71272 Renningen

Germany Dome 6]0 PeCIk
+49 7159 42059-0

Name Date Material: ltem no.:
Designed A. Gerstenberger 29.03.2021 EN AW 6063 Téé 2004 ] 25 A4

Approved A. Soumpalas 24.10.2022 Surface:  mill finish Drawing no.: 07-455-03 All dimensions in mm

Last change | E. Markou 20.10.2022 Weight: ca. 300.2 g/pc | Scale: 1:2 | Sheet 1 0of 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




20,6

[sometric

Corrugation

Pos.-no. Designation Material Quantity
1 MK2 Clip TPC 1
2 MK2 Bofttom part M8 S’ro(ir]ﬂi:s))%?’r)eel 1
szsy?er?s GmbH Designation:
I iestr.
;]QL;Serl?e(—:?nrniLgsgen DOTO SheeT
Germany MK2

+49 7159 42059-0

Name Date Material: Iltem no.: ‘| OO '| 643
Designed Renz 17.06.2010 see table A4
Approved E. Markou 17.07.2023 Surface: - Drawing no.: 04-070-03 All dimensions in mm
Last change Weight: ca. 17.9 g/pc Scale: 1:1 Sheet 1 of 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!



2 3 4
22,3 65
57'5 — — —
T - i
[ —50 :
N
< | N )
~ ] ~ 1
] | |
3 i 10
1Y / stamp [ 1
O
=)
- 325  _| . 43 _ _ 23,5
- 33,5
Y
)
Y]
0
| | <L
[sometric

82,5

13

1:2

K2 Systems GmbH besignation:

Industriestr. 18 DOTO SheeT

71272 Renningen

2 Rer Dome 6.10 SD

+49 7159 42059-0

Name Date Material: ltem no.:

Designed | E. Markou 20.10.2022 EN AW 6063 T66 2003243 A4
Approved A. Soumpalas 20.10.2022 Surface:  mill finish Drawing no.: 07-460-05 All dimensions in mm
Last change | E. Markou 20.10.2022 Weight: ca. 84.7 g/pc | Scale: 1:1 | Sheet 1 0of 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




3 4
- 65,8 -
A
\ — —
A
© v Y
N .
N N
Vot D D
- 75,3 -
)
Y
Isometric
S1:5
Item No. Designation L (mm) Weight (g/pc)

2003126

Dome Mat S 380

380

368

2004126

Dome Mat S 190

190

188

Designation:

K2 Systems GmbH esignaton

Industriestr. 18 DC]'I'C] Shee'l'

71272 Renningen

Germany DO| ne MOT S

+49 7159 42059-0

Name Date Material: ltem no.:
see table

Designed | S.Frey 21.08.2019 EPDM Shore A 70 A4
Approved B. Koch 21.10.2019 Surface: blank Drawing no.: 07-454-03 All dimensions in mm
Last change | A. Gerstenberger 29.03.2021 Weight:  see table | Scale: 1:1 | Sheet 1 of 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




14,1
22,5

31,5

63

z

Rechenwerte:

A =2,38 cm?
ly=1,52 cm*
l.=7,74 cm*
Wy =1,08 cm3
Wz =2,46 cm3

K2 Systems GmbH Benennung:

Industriestr. 18 Datenblatt
71272 Renningen . .
Deutschland K2 BasicRail 22
+49 7159 42059-0

Name Datum "EAT\‘le':I:v\/ 4063 T66 At 2002283 A4

Erstellt K. Mahboobi 16.09.2019
Freigegeben | A. Soumpalas 01.03.2023 Oberflache:  mill finish Ing.-Nr.: 01-011-07

Alle MaBe in mm

Letzte And. E. Markou 01.03.2023 Gewicht:  ca. 643.0 g/m MaBstab: 1:1 Blatt 1 von 1

Diese Zeichnung ist Eigentum der K2 Systems GmbH. Sie ist urheberrechtlich geschitzt und darf nur mit ausdricklicher Genehmigung vervielfdltigt oder an Dritte weitergegeben werden!



342 - 65 -
— —T
A
| == <>8,] )
S
(i 8 E
. 33
®)
>

1:2

@

lsometrie

Pos.Nr. Benennung Material Anzahl
1 DomeClamp MC 30-50 Solo Black EN AW 6063 T66 1
2 DomeClamp Stance 18 Solo EN AW 6082 Té 1
3 MC/EC Feder 39-44 mm Edelstahl 1
; A cootan ;270 |

K2 Systems GmbH
Industriestr. 18
71272 Renningen
Deutschland

+49 7159 42059-0

Benennung:

Datenblatt

DomeClamp MC Black

Set 30-50

Name Datum Material: Art-Nr.: 2002 609
Erstellt A. Gerstenberger 08.06.2022 siehe Tabelle A4
Freigegeben | E. Markou 23.03.2023 Oberflache: - Ing.-Nr.: 03-018-06 Alle MaBe in mm
Letzte And. S. Frey 23.03.2023 Gewicht:  ca. 60.2 g/Stk MaBstab: 1:1 Blatt 1 von 1

Diese Zeichnung ist Eigentum der K2 Systems GmbH. Sie ist urheberrechtlich geschitzt und darf nur mit ausdricklicher Genehmigung vervielfdltigt oder an Dritte weitergegeben werden!



- 29.8 _ - 65 _
1
8,1 — | =] '
2 —
32 —
35 |
o)
>
I . |
Isometrie
— ]8 — 1:2
Pos.Nr. Benennung Material Anzahl
1 DomeClamp EC 30-50 Solo Black EN AW 6063 Té6 1
2 DomeClamp Stance 18 Solo EN AW 6082 Té 1
3 MC/EC Feder 39-44 mm Edelstahl 1
Zylinderkopfschraube UKV
4 &hnlich 1SO 4762 - M8x35 Edelstahl A2-70 ‘
oo Datenplatt
71272 Renningen ome Gmp qac
Deutschland
+49 7159 42059-0 Set 30-50
Erstellt /'\\l.ozeersrenberger (I)D;;L:SZOZZ ':ioeiel':oels Tabelle e 20026 ] O A4
Letzte And. S. Frey 23.03.2023 Gewicht:  ca. 51.9 g/Stk MaBstab: 1:1 Blatt 1 von 1

Diese Zeichnung ist Eigentum der K2 Systems GmbH. Sie ist urheberrechtlich geschitzt und darf nur mit ausdricklicher Genehmigung vervielfdltigt oder an Dritte weitergegeben werden!



16,5

200
39

Isometric

Designation:

s Ca o Data sheet

71272 Renningen

Germany Dome Speed POFTeI’
+49 7159 42059-0

ame ate Material: em no.:
Desgned :A.Prem ?5.;2.2016 EN AW 5754 H111 ” 2002300 A4

Approved M. Wiggers 12.04.2016 Surface: blank Drawing no.: 07-015-05 All dimensions in mm

Last change | J.Dages 08.11.2021 Weight: ca. 58.1 g/pc | Scale: 1:2 | Sheet 1 0f 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




O
® N
g—
1 —|
152
Isometry
ST
K2 S 1_ G bH Designation:
ystems Gm
Industriestr. 18 Data sheet
71272 Renningen 1 1
07 55 10 SingleRail 36 End cap
Name Date Material: Iltem no.:
Designed | MPreis 31012018 PA6 GF15 black ] 00476 7 A4
Approved B. Koch 21.01.2020 Surface: Drawing no.: 04-067-03 All dimensions in mm
Last change | S. Frey 16.01.2020 Weight: ca. 8 g/pcs | Scale: 11 Tolerance ISO 8015 | Sheet 1 of 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




18,9

20,5

39.4

z

Characteristics
for calculation:

A =2,85cm?
ly = 4,02 cm*
l-= 6,37 cm*
Wy =2,14cm3
W:=3,09 cm?

K2 Systems GmbH Designation:

Industriestr. 18 DOTO SheeT
71272 Renningen Slﬂg|eRCII| 36

Germany
+49 7159 42059-0 per meter
Name Date Material: Item no.:
Designed M. Wiggers 08.01.2015 EN AW 6063 Téé 2002289 A4
Approved A. Soumpalas 20.06.2023 Surface:  mill finish Drawing no.: 01-191-14 All dimensions in mm
Last change | E. Markou 20.06.2023 Weight: ca. 769.53 g/m  Scale: 1:1 Sheet 1 of 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!



- 65 - Section A-A
A 37
_>
(2) 5
o \__
o 1 M
e ¢
° ¢ 0
29 @/ -~
fé Q_ 1 [ | E'
\ % ” "
O L
O il
]
=
T A T~ | ~ 192 _
29
Isometric
1:2
Pos-No. Designation Material Quantity
1 OneStance Solo EN AW 6063 Té6 ]
2 OneMid 30 Black Solo EN AW 6063 Té6 ]
3 MC/EC Spring 39-44 mm 1.4310 1
Square nut siml. DIN 652 - M8x15 - A2 .
4 gleitmo coated Stainless steel A2 ]
Socket head bolt ISO 4762 - .
5 M8x45 - A2 serrated Stainless steel A2 |
aUSes 18 ~ Datfasheet
71272 Rerninger OneMid Black Set 30-42
+49 7159 42059-0
Designed :.GI\::Jerkou :20:61 2022 :ZZHOTI:O ble e 20030 72 A4
Last change E.‘MZL:IZZOMS Z]I]IZZZ SWU:Z:}T::: ;0.71.2 g/Stk Scale: 1:1 o 03_05|5-0] = disr::::kl)r:fi:] =

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




| 4

A Anzugsdrehmoment 16 Nm

Schnitt A-A

A

35-45

Einstellbereich

1 | 7, /2~
T /
1 6 6 / 1
ae 1
- c =
5% 88 58 (] °
®Q N9 TE K\ 7
- § % 3 % ALU - L L/ Anzugsdrehmoment max. 10 Nm
Cc —|C
o "o
L/
Lieferzustand
! Y Y G 105
- 893 123,9
- 224
_ 525 _
1
& 2 I
1
0 RIPS7 o an fn ol 8
|
|l ] V V
_6—9_ '@ 1
|
$85 | |. &
Pos.Nr. Benennung Material Menge
1 SingleHook 3S Grundplatte EN AW 6063 T66 1
2 SingleHook 3S Bracket EN AW 6063 Té66 1 . 4
K2 Systems GmbH enennung:
3 Climber 36/50 Langloch EN AW 6063 T66 ] ndustest 18 Datenblaft
. SingleHook 3§
4 Zylinderkopfschraube - A2-70 1 95; T751(: 5@%%59-0
|SO 4762 _ M8X25 Name Datum Material: Art-Nr.:
ZylinderkopfSChrOUbe mit UKV - Erstellt A. Gerstenberger | 08.06.2020 Siehé Tabelle “ 20032] 5 A3
5 OhnlICh |SO 4762 - M8X20 A2_7O 'I Freigegeben | A.Soumpalas 21.03.2023 Oberfléche: - Ing-Nr.: 02-115-07 Alle MaBe in mm
OH’GI’HOTIVI ZY|InderkOpfSChrOUbe - |SO 4762 - Letzte And. A. Gerstenberger 21.03.2023 Gewicht: ca. 586.4 g/Stk |M08$10b: 1:2 | Seite 1 von 1
M8X20 m”- VeI’ZOhﬂTer UnTerleQSChe|be Diese Zeichnung ist Eigentum der K2 Systems GmbH. Sie ist urheberrechtlich geschitzt und darf nur mit ausdricklicher Genehmigung vervielfdltigt oder an Dritte weitergegeben werden!

1

| ’ | ’




1 2 3 4
g Isometric
- 65 _ . 33
=t
- |
. |
; 0}
%
NN
O ~<
£ S
g— I3}
O
O
C
Pos.No. Designation Material Quantity
. | Universal clamp OneEnd Black Solo EN AW 6063 Té66 |
2 Universal clomp OneStance EN AW 6063 Té6 1
3 Plastic cage POM/ black 1
4 Semi-circular bearing black EN AW 6063 Té66 1
5 MC/EC Spring 39-44 mm 1.4310 (X10CrNi18-8) 1
E
Socket head bolt serrated - sim. ISO 4762 -
6 M8X50 A2-70 1
Square nut - sim. DIN 557 - M8 - SW15 -
/ Gleitmo coated A2-70 ]
Incosirodt. 18 - Data sheet

71272 Renningen

OneEnd Black Set

Germany
+49 7159 42059-0 30-42 mm
Name Date Material: Iltem no.: 200258 9 A4
Designed | S. Frey 02.12.2020 see table
Approved V. Schitz 13.03.2024 Surface: - Drawing no.: 03-127-01 All dimensions in mm

Last change | S. Frey

11.03.2024

Weight: ca. 89.2 g/pc Scale:

1:2

Sheet 1 of 1

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




Pos.No. Iltem no. Designation Material Quantity
] 2001975 SingleRail Rail Connector 36 | EN AW 6063 Té66 1
2 1002387 T-Bolt 20/12 M8x20 stainless steel 4
3 1000043 HeXOgolglﬂlOQ?%% E\ﬂ 8serro’red s’roinIeAszs steel 4
e S " Datasheet
O7159/420550 RailConnector 36 Set
eizes |Gz [womsam | 06 fable 2001976 A4
Lost change Welght. _ca. 366 glpes | scaler 12 | Sheet 1011

This drawing is the sole property of K2 Systems GmbH. It is protected by copyright and may only be copied, reproduced or distributed to a third party with explicit permission!




	Data sheet MK2.pdf
	Blatt1
	Zeichenansicht5
	Zeichenansicht7
	Schnittansicht A-A
	Zeichenansicht9
	Zeichenansicht10


	Datenblatt K2 BasicRail 22.pdf
	Blatt1
	Zeichenansicht2


	Datenblatt DomeClamp MC Black.pdf
	Datenblatt
	Zeichenansicht10
	Zeichenansicht11
	Zeichenansicht19


	Datenblatt DomeClamp EC Black.pdf
	Datenblatt
	Zeichenansicht8
	Zeichenansicht9
	Zeichenansicht10


	Data Sheet - SingleRail 36 per meter.pdf
	Data sheet
	Zeichenansicht1


	Datenblatt SingleHook 3S.pdf
	Datenblatt
	Zeichenansicht14
	Zeichenansicht15
	Schnittansicht A-A
	Zeichenansicht17
	Zeichenansicht19


	Data Sheet - OneEnd Black Set 30-42 mm.pdf
	DS
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht9





